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ln(x)

x
, y(1) = 2 y = ln2(x)/2 + 2

y ′ = xex, y(0) = 0 y = xex − ex + 1

x−2 dx = y−1 dy y = C e−1/x

(1 + y) dx− (1 + x) dy = 0 y = C(1 + x)− 1

y ′ = x2/[y(1 + x3)] y2 = ln(1 + x3)2/3 + C

y ′ = xex/2y y2 = xex − ex + C

sen(x) dx+ y dy = 0; y(0) = −2 y = −
√

2 + 2 cos(x)

(x2 + 1)dx+ y−1 dy = 0; y(−1) = 1 y = e−(x3+3x+4)/3

xex
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dx+ (y5 − 1) dy = 0, y(0) = 0 3ex

2
+ y6 − 6y = 3

y ′ = (x2y − y)/(y + 1), y(3) = −1 (x3/3)− x− y − ln|y| = 7

[x sen(y/x)− y cos(y/x)] dx+ x cos(y/x) dy = 0 x sen(y/x) = C

y ′ = (y − x)/x y = x ln|C/x|
y ′ = (x2 + 2y2)/xy y2 = Cx4 − x2

y ′ = (2x+ y2)/xy

y ′ = 2xy/(y2 − x2) 3yx2 − y3 = C
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√
xy), x > 0 −2
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x/y + ln|y| = C

y ′ = y2/(xy + (xy2)1/3)

y ′ = (x4 + 3x2y2 + y4)/x3y y2 = −x2[1 + (ln|Cx2|)−1]

(2xy + x) dx+ (x2 + y) dy = 0 2yx2 + x2 + y2 = C

yexy dx+ xexy dy = 0 exy = C
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xexy dx+ yexy dy = 0

y dx+ x dy = 0 xy = C

(x− y) dx+ (x+ y) dy = 0

(y sen(x) + xy cos(x)) dx+ (x sen(x) + 1) dy = 0 xy sen(x) + y = C

µ(x, y)
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(3x2y + 2xy + y3) dx+ (x2 + y2)dy = 0 µ(x) = e3x, (3x2y + y3)e3x = C

y ′ = e2x + y − 1 µ(x) = e−x, y = Cex + 1 + e2x

dx+ (x/y − sen(y)) dy = 0 µ(y) = y, xy + ycos(y)− sen(y) = C

y dx+ (2xy − e−2y) dy = 0 µ(y) = e2y/y, xe2y − ln|y| = C

ex dx+ [excotg(y) + 2y cossec(y)] dy = 0 µ(y) = sen(y), exsen(y) + y2 = C

y ′ − 7y = sen(2x) y = Ce7x − (2/53)cos(2x)− (7/53)sen(2x)

y ′ + x2y = x2 y = Ce−x3/3 + 1

y ′ + 2y
x = x, y(1) = 0 y = (−x−2 + x2)/4

y ′ + 6xy = 0, y(π) = 5 y = 5 e−3(x2−π2)

y ′ + 2xy = 2x3, y(0) = 1 y = 2e−x2
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x2 + y2 = C

y ′ =
2x+ y

3 + 3y2 − x
, y(0) = 0 x2 + xy − 3y − y3 = 0



2o

(x+ ey) dy − dx = 0 x = Cey + yey

y ′ = −2xy + y2 + 1

x2 + 2xy
x2y + xy2 + x = C

xy ′ + xy = 1− y, y(1) = 0 y =
1− e1−x

x

y ′ =
x

x2y + y3
(x2 + y2 + 1) e−y2 = C

xy ′ + 2y =
sen(x)

x
, y(2) = 1 y =

4 + cos(2)− cos(x)

x2

y ′ = −2xy + 1

x2 + 2y
x2y + x+ y2 =

(3y2 + 2xy) dx− (2xy + x2) dy = 0
y2

x3
+

y

x2
= C

(x2 + y) dx+ (x+ ey) dy = 0 x3/3 + xy + ey = C

y ′ + y =
1

1 + ex
y = Ce−x + e−x ln(1 + ex)

x dy − y dx =
√
xy dx, x > 0 2

√
y

x
− ln(x) = C

(x+ y) dx+ (x+ 2y) dy = 0, y(2) = 3 x2 + 2xy + 2y2 = 34

(ex + 1) y ′ = y − yex y = Cex/(1 + ex)2

x2 − y2 = C2 y = Cex x2 − y2 = Cx

xy = k y2 = −2x+ k 3x2y + y3 = k
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T = −100−0.029t + 100, (a) 23, 9 44o

Q = 100 e−0.026t 4.05
N = N0 etln(3)/10, N0 = 16 666
v = 320 e−0,1t − 320
v = 2(3 e32t + 1)/(3 e32t + 1)

y ′ =
2y − x+ 5

2x− y − 4

h k x = X−h y = Y −k

Y ′ =
2Y −X

2X − Y

y ′ − (3/x)y = x4y1/3.
y ′ + p(x)y = q(x)yn n n = 0

n = 1 n #= 0 n #= 1 v = y1−n

y ′ = −(1/x2)− (1/x) y + y2

y ′ = p(x) + q(x) y + r(x) y2 y1
y = y1(x) + [1/v(x)]

y1(x) = 1/x

h = −1, k = 2 y − x+ 3 = C(y + x+ 1)3

v ′ − (2/x)v = (2/3)x4 y2/3 = Cx2 + (2/9)x5

v ′ + (1/x)v = −1 y = x−1 + 2x(C − x2)−1


